CHAPTER 10

MODULATION

10.1 Modulation means changing from one key to another.

It is common to change key in a piece of music, particularly to one of the five closely-related
keys.

10.2 CLOSELY-RELATED KEYS

a) The closely-related keys are:-

Major Minor
— V and its relative minor — the relative major

— IV and its relative minor — ¥ minor and its relative major

— the relative minor — IV minor and its relative major

b) In C major, these would be G major, E minor; F major, D minor; A minor.

In C minor: b major; G minor, Bb rnajdr; F minor, Ab major.

10.3 a) A modulation is usually effected by a perfect cadence in the new key, often using V.
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b) The modulating chord must contain a note which is foreign to the old key. This cancels
the old tonality and introduces the new one:
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NB. A "foreign" note in a key is termed "chromatic", in contrast to a "diatonic” note, which is part
of the scale of the prevailing key.

There are two ways of leading to the modulating cadence:

a) byusinga chord which is found in both the old and the new keys. This is called a
pivot chord.

b) by using a chord which is not part of the new key. This is called abrupt modulation.

PIVvOT CHORD

This is the smoothest way of changing key, because the chord is common to both keys.
a) The pivot chord is reached in the context of the old key.

b} Itis then treated as belonging to the new key and leads immediately to the modulating

cadence:
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¢) [t is necessary to discover the common chords when pivot-chord modulation is to happen.

d) Eg. To modulate from C major to G major, the following chords are available as pivot

chords.
C major 1 4 IV
E minor 11 in C VI inG
G major Vv |
A minor VI II
a) b) c) dj
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10.6 ABRUPT (OR DIRECT) MODULATION

a) A chord from the old key (usually a primary chord) is used immediately before the
modulating cadence. ‘
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b} Because the approach chord (chord 1} is not diatonic in the new key, one or more of its notes
need to be altered chromatically in chord 2.
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¢) "~ This chromatic change will result in "false relation" [Eg. 10.6(ii) below], unless the alteration
is made in the same part, [Eg. 10.6()]:
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While it is not always possible to avoid false relation, it is preferable to try to do 50,
especially for examination purposes. '

10.7  Abrupt modulations in succession result in TRANSIENT or PASSING modulations:

ABRUPT MODULATIONS pivot
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a) This means that the new key is only briefly touched on.
b) The music here "passes through" the keys indicated in brackets before the final modulation.

c¢) This contrasts with a modulation to a new key in which the music remains for a longer time.

In such a case, the music is said to have "moved into” the new key.
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10.8 RECOGNITION OF MODULATIONS It suggests this harmonisation:
Modulations are easy to recognize when an accidental is in the given part: 1 o) — i i
; Eg. 10.90i) #—J—w = -
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However, the Bb cannot here be harmonized with V7, leading to F major, because the
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| perfect cadence is not weak—strong. In any case, it is wrong to use the same chord
: o3 = 3T Eﬁ across a bar-line. So, this phrase should be treated as a modulation to D minor, with
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Cmajor to A minor Cmajor to  I>minor Cmajor to  Eminor : Eg. 10.5(v) M Z 7
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of subdominant) of dominant) L r lg

10.9  When there are no helpful accidentals in the given part, the phrase-ends must be considered : f
carefully. | 10.10 SEQUENCE

The particutar turn of phrase may suggest what key the cadence is in, and whether or not a

modulation is "implied": : If a given phrase contains a modulation, and if that phrase is repeated in sequence, or imitatively,
it is likely that a modulation will happen in the repeated phrase also, even though it may not be

. . . obvious. The modulation is likely to be a transient one:
a) Inaminor key the LN is usually raised.

If, therefore, it is not raised at a phrase end, it is probably because a2 modulation is 55 /_\
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eg.

Add the bass only of 3-chord modulations in the keys indicated.

List the available common (pivot) chords between the new and old keys. (These should be with

reference to the old key).

Indicate the chords used. Insert key signatures.

C major to A minor

T

1 ]

Tb/IVb V5

a)- Cmajor to E minor b) G major to D major
() % Y]

7 7

¢) A major to B minor d) A majorto C# minor
) 9'

> 2l

e¢) G minor to F major f)  E major to A major

> 5 ¥

g Bb major to D minor k)  Fmajorto Bk major
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2. Complete the following modulations:

NB. Remember that in an abrupt modulation, the middle chord must contain a chromatic note which is foreign to

key 1 but part of the perfect cadence.

a) Example. C major to F major b) c)
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3. Write suitable modulations as indicated; add the key signature and identify the chords used:
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A maj. to D maj.

C maj. to G maj.
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4,  Modulate to the key indicated at the end of each exercise. Identify all chords.
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State the key at the end of each of the following and its relationship to the opening key:
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10. Identify the keys at points 1 — 8:
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